Algebraic Fractions (Simplifying)

é\

REVISE THIS
IS Tt

N 3a+9
1 Simplify fully B3
A(a+3)
q*(a +3)
2
az.
(Total for Question 1 is 2 marks)
. 2x2 — 2xy
2 Simplify fully w
25 (x-Y)
y¥ (e =Y)
2x
a‘l-
(Total for Question 2 is 2 marks)
- 3b +b?
3 Simplify fully 712
b(3+b)
G(b*+ )
b
Y

(Total for Question 3 is 2 marks)

u . r@ @1stclassmaths

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

u ’ r@ @1stclassmaths

10n2 - 90

4 Simplify fully o 6

\o(n*=9) - [0+ n-3)
2n-) 2(n-3)

[-Dr Cn+ |Sj
S(n+ Q)

(Total for Question 4 is 2 marks)

a2 -1
6k3 — 3k2

5 Simplify fully

(2h+1) (L)
TeM(2k-1)

2k +\
R

(Total for Question 5 is 2 marks)

3 _
6 Simplify fully %

be(cr-25) _  4clersYe-9)
4(c+5) 4(c+S)

[or ¢-5c]
c(c-5)

(Total for Question 6 is 2 marks)
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7 Simplify fully —Xffg; izzo
20-0) | 2(x+4)(x-b)
(X +%)(x+5) (e +4)(3+5)
2x -3
OF “x+s
2(x-4)
X+S
(Total for Question 7 is 3 marks)
8 Simplify fully ;:E—Zigg
(a-5)a-¢)
(a-6)(a—6)
a- S
a-6
(Total for Question 8 is 3 marks)
9 simplifyfully Y- Y~18
y2-81
(y+2)(y—q)
(Y +a) y-a)

Y+
4+ 9

(Total for Question 9 is 3 marks)
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ox2 - 25

10 Simplify fully ——
3x2 + 14x+ 15

(Lt S)2x- 5
( 3+ S)o+ 3)

4y? -9

11 Simplify fully ———
plify fully 2y2 - 11y + 12

(Ly+y-d)
( Ly —-'S\(\d )

n2+11n+ 24

12 Simplify fully —— —
plity fully 5n2 + 22n+ 21

(n+3Yn+3)

(5n43F)(n+3)

4
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x-S
X2

(Total for Question 10 is 3 marks)

2y +3
9

(Total for Question 11 is 3 marks)

n+
Sn+F

(Total for Question 12 is 3 marks)
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o 45 — 20x?
13 Simplify fully %2+ 5x+ 3

S(a-4x") _ 5(2-2)3+%)
(223 x+\ ) (22 +3)oe+1)

E{, \S- le‘l
X+
S(3- )
A +\

(Total for Question 13 is 3 marks)

3x?+ 19x+ 6

14 Simplify full
pliy fully ox2+6x+1

(Vo 1Y >e0)
(x4t e+ )

x+ 6
dz+|
(Total for Question 14 is 3 marks)

o 3x2 — 300
15 Simplify fully =>"—=—¢5

R(ct-100)  _  23(x+i10)(x-10)
(62— Yoc+10) (6x-5 Yoc+10)

3x-30
[Dr 61—5]

30x10)
6x-§g
(Total for Question 15 is 3 marks)
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2
16 Showthat ~12X—36 X1+ 9x+20

can be written in the form a +
X2 + 5X 3x-9
where a and b are integers.
12(x-3) (o + %)(2+5)
W (xS 2(x-7)

_ (2 (=2 rsYa+5)
Bx(z+)(X—7)

4 (x +4)

h &

bx + 16

aC

- 4 + 16

oK

(Total for Question 16 is 4 marks)
2 '
17 Showthat 10x-35 = 2x° —15x + 28

can be written in the form ax+b
2x% - 32
where a and b are integers.

~ 2(+ 4 )x—4)
S(Lx-7F) % (Tx ~F 4]

i

O (Lou -PlLri 2L - &)
(e =P —Y)

L0 (x +W)

= \ox + %o

(Total for Question 17 is 4 marks)
6
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3 33X+ 10x4 X2 . . a
18 Showthat 9x=3 x o2 100~ Bx_20 can be written in the form X

where a is an integer.

q “ (22 +10) XZ(Sx—lo)
> ( 35 +10)(3~i0) x*

- 18 x¥( ex 1)(2x-10)
x> (3x+10 X 3x—10)

X
(Total for Question 18 is 4 marks)
19 2x - X —x? x 2¢ -1 can be written in the form ax +b
X2+ 2x—3 X2 X +
where a and b are integers. Work out the values of a and b.
2x — x*(e -0 2x*-) et ()
(42 Xx-1) x? >~ + 3
= Zx, - 21.7'— | - 2t 6 =2+ |
x+3 x+73
= 2x(x+3)  2x*— | = bx+|
L+ a+ 3 x+

- b

b= |

(Total for Question 19 is 4 marks)
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